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POLITICAL SCIENCE
(Indian Politics : An Introduction)
Paper : PS-04

Time : 1% Hours | [ Maximum Marks : 70

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 4x3%,=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3% marks.
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1. (i) “The Indian Constitution strikes a mean
between the principles of parliamentary

sovereignty and judicial supremacy.” Explain.
“uRde FfauE SO 9y SR e wEtea
% fagmi & way | W A\mow ST
HIA F 1" TR FHIET |

(ii)) Why is the Indian President recognized as a

part of Parliament ?
YA oAl b1 FES 1 ST = HE= T Y 2
(ii1) Mention any fwo reasons for the decline of

power, role and prestige of the Indian

Parliament.
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(iv)

v)

(vi)

IRAE §9 i wIfear, yfsewt wa ufassr &
A % FE G HRI TARC

Explain the original jurisdiction of the
Supreme Court of India.

IRd &% Tared g % GRS SRR
TS HIT |

How is the writ of prohibition different from

the writ of certiorari ?

iy Re (vr/@) fea 7R 33w @ 9 fa=
€ ?

In the Indian context what do you understand
by the term ‘Immunities of the Governor’ ?
qg < § TS B SReA | s
THerd € 2
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(vii) What is the problem of opportunism and
unprincipled coalition witnessed in the Indian
political party system ?

I TSHIfqR S0 ewel & §<d H =ra
sEERae qo7 fagifed oo & §u& =

7 ?

(viii) What do you understand by Regionalism ?
A | AT FAN TEAA © 7
Section-B 4x14=56
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 14 marks.
U —a
(g 3T I9)

feor .- fo<l 9R weAl & SW SISl MU o9 I AN
Afreraw 200 3151 § GREIfHG wifSw) g 99

14 3% &1 T
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2. Explain the following goals set by the preamble

of the Indian Constitution :

“We the people of India, having solemnly resolved
to constitute India into a sovereign socialist secular

democratic republic.”
ARG Ffau™ 1 g&aeA g/ fHeifa fFeafatea sges
T T HIGT :

“TH WRA % AN, 9RG I GO G- S SESER]
qafe dAhdsds o1 & fau)”

. Explain the significance of Directive Principles of

state policy mentioned in the Indian Constitution.
R dfgum § afta o & Aifa e faget w1

e T i |

. Explain the circumstances when the Governor
functions ‘more than a mere constitutional head’.
3 IR o1 T HifVy 99 TS gR A
GautTer gq@ A sifess’ & fRan S ¥
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. What do you understand by casteism in Indian

Politics ?

YR oI | Sifdee 9 9 = T9Ad § 2

. Write a short note on judicial activism in India.

Why is the power of judicial review in India

considered as being limited ?

gRd H =g 9feaar W s fewoi fafaw) wra |
=TIk TR i 6 ] HHG T A= T § 2

. How is Lok Sabha more powerful than Rajya

Sabha with regard to Money Bill ?

o fadmes & Ty § ey 59 gwr 9 Tsaga 9
T wifebeTett ¥ 2

. Explain the structure of Panchayati Raj system

established in India.
YIG H Tfd el US SFael ki TLEAT hl IS
I |
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9. Explain the provision of Right to Constitutional

Remedies in Indian Constitution.
YR gfgu # greeE e T gaufe SRR @6
SAfYPR T HifST |
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